Section 3 Session 5

T _ R
1 9x2 =
2 10x5 =
2 9x10 -
L L5=+5 -
5 6010 =
6 8-=+2 -

7 Double 1k is

8 Double 17 is

-9 Double 19 s

10 Double 11 is

B | ' ANSWER

1 2lotsof 13 s

2 2 lots of 15 is

'3 2lotsof 18 is

L 2lotsof 16 s

5 6 multiplied by 5 is

6 7 multiplied by 10 is

7 9 multiplied by 2 is

8 35 divided by 5 is

9 30 divided by 10 is

10 16 divided by 2 is

How much is

1 double £18?
2 double £12?

3 double £13?

Share equally

L  £14 between 2.
5 £6 between 2.
6 £20 between 5.

7 £80 between 10.

ANSWER

How many oranges in

8 5 packs?
89 2 packs?

10 10 packs?




